
kl/df)f भार jflif{s ah]^ kl/df)f भार ah]^ kl/df)f भार ah]^ kl/df)f भार ah]^

rfn' vr{ cGt{utsf sfo{s|dx?

s

1 ldgLl^n/ 50% cg'bfg ljt/)f ;+Vof 24 12.87 960 24 12.87 960 0 0 0 0 0 0

2 :ynut tflnd -3 lbg]_ ;+Vof 1 0.48 36 1 0.483 36 0 0 0 0 0 0

o; cfof]hgfsf] hDdf 13.35 996 13 996 0 0 0 0
v

1 t/sf/L ks]^ :yfkgf tyf ;+rfng

2  d:ofd -1, sf]N*f*f -1, ;TojtL -1 ;+Vof 3 7.37 550 1 2.681 200 2 4.6917 350 0 0 0

3 :ynut tflnd -3 lbg]_ ;+Vof 3 1.45 108 1 0.483 36 2 0.9651 72 0 0 0

4 cfn'tyfRofppTkfbgks]^-nUb'jf,c#f{%fk If]q_ ;+Vof 2 5.36 400 1 2.681 200 1 2.681 200 0 0 0

5 :ynut tflnd -3 lbg]_ ;+Vof 2 0.97 72 1 0.483 36 1 0.4826 36 0 0 0

6 s]/f v]tL ks]^ :yfkgf 0.00 0 0 0

7 cf]vn('ª\uf -1,;TojtL -1,sf]N*f*f-1, ;+Vof 3 5.36 400 0 0 0 0 0 0 3 5.362 400

8 :ynut tflnd -3 lbg]_ ;+Vof 3 1.45 108 0 0 0 0 0 0 3 1.448 108

9 u/f ;'wf/ sfo{s|d, srn kmf+^ 0.00 0 0 0

10 ;'k/Lj]If)f tyf k|ltj]bg k^s 2 1.01 75 1 0.536 40 1 0.4692 35 0 0 0

11 u/f ;'wf/ /f]kgL 50 4.02 300 0 0 0 25 2.0107 150 25 2.011 150

o; cfof]hgfsf] hDdf 26.98 2013 6.86 512 11.3 843 8.82 658

u

1 o'jf :j/f]huf/ sfo{s|d ;+Vof 12 4.02 300 12 4.021 300 0 0 0 0 0 0

2 :ynut tflnd 3 lbg] -t/sf/L_ ;+Vof 1 0.48 36 1 0.483 36 0 0 0 0 0 0

3 cu'jf s[ifs tflnd 6 lbg] -t/sf/L_ ;+Vof 1 1.47 110 0 0 0 1 1.4745 110 0 0 0

4 t/sf/L ljp ls^ ljt/)f ;+Vof 1500 4.02 300 500 1.34 100 500 1.3405 100 500 1.34 100

5 ;fgf l;+rfO{ sfo{s|d -d:ofdskmLIf]q_ x]S^/ 1 1.21 90 0 0 0 0 0 0 1 1.206 90

o; cfof]hgfsf] hDdf 11.21 836 5.84 436 2.815 210 2.55 190

#

1 df%f ks]^ If]q :yfkgf -bf]efg_

2 Kff]v/L lgdf{)f x]S^/ 1 3.35 250 0 0 0 1 3.3512 250 0 0 0

3 r'gf ljt/)f d]=^= 0=5 0.13 10 0 0 0 0 0 0 0=5 0.134 10

4 e'/f ljt/)f ;+Vof 10000 0.67 50 0 0 0 0 0 0 10000 0.67 50

5 bfgf v/Lb d]=^= 1 0.67 50 0 0 0 0 0 0 1 0.67 50

6 ('jfgL k^s 1 0.13 10 0 0 0 0 0 0 1 0.134 10

o; cfof]hgfsf] hDdf 4.96 370 0 0 3.351 250 1.61 120

ङ्

dt:o ljsf; sfo{s|d

jfnL ;+/If)f sfo{s|d

bf];|f] rf}dfl;s nIo t];|f] rf}dfl;s nIo

s}lkmot

afnL ljsf; sfo{s|d

afujfgL ljsf; sfo{s|d

s[lif k|;f/ sfo{s|d

ltgfp ufpkflnsf

s[lif ljsf; zfvf

jflif{s s[lif ljsf; sfo{s|d tyf ah]̂

cf=j=2075.076

s[lif ljsf; zfvf k|d'v M >L /fd ;'Gb/ dfnL                                                     s'n ah]^ ?=5000 -xhf/df_

s|=;+= ls|of snfk ljj/)f OsfO{

jflif{s sfo{ nIo cf=j=2075.076 k|yk rf}dfl;s nIo



1 df}/L ks]^ sfo{s|d ;+Vof 1 4.69 350 0 0 0 1 4.6917 350 0 0 0

2 :ynut tflnd -3 lbg]_ ;+Vof 1 0.48 36 0 0 0 1 0.4826 36 0 0 0

o; cfof]hgfsf] hDdf 5.17 386 0 0 5.174 386 0 0

Rf

;+rf/ c=c= 0.08 6 0 0.027 2 0 0.0268 2 0 0.027 2

Nof^k 1,lk|G^/1 vl/b-s[lif;Dks{ s]Gb|\ ;] \̂ 1 1.34 100 1 1.34 100 0 0 0 0 0 0

sfof{no ;+rfng tyf %kfO{ k^s 3 0.98 73 1 0.643 48 1 0.2011 15 1 0.134 10

cg'udg tyf e|d)f vr{ -;Dk")f{ cfof]hgfsf]_ cf=c= 0 2.28 170 0 0.67 50 0 0.9383 70 0 0.67 50

OGwg tyf dd{t vr{ cf=c 0 0.67 50 0 0.134 10 0 0.2681 20 0 0.268 20

जम्मा 5.35 399 2.82 210 1.434 107 1.1 82

कूल जम्मा 67.02 5000 28.9 2154 24.08 1796 14.08 1050

tof/ ug]{M प्रमाणित गर्ने

s[lif ljsf; zfvf tkm{


